I 7€ Ireeta fore wife 2020 o qed U 2023-24 W UISATEAR Bl AESTTA A
feram T &1 g welte e guta: Teie qRHETG ureaTEerl Ot et ¥

.
[ ®

-

g
AAITET-X11

=fte LIS Teh aR=ra (9T1-1)

ua
Uit 319 Weh U=t (91T-2)
(AT 12 o hell Tal anfured ot o ferenfafan o forw eftaram wragermTTam)

J/

o atre<d. fdram ais, 2024 1T ULST-U N

o UIIgXdas o A3fl 313amA uesil &1 &t
o Aafl ubIR & 315 FrEcaygef uLsil o1 Adrder
e oA Td 31o1a1d] eizerep) T fafera

| @ uerdt 2ivfl ura a53at @ fere gof arersh

2025
HAoifld udsI1oTel,

&

;

W

: 3 -1
(e 360/




(ii)

TS WeRT9T
A3

email : sanjeevprakashanjaipur@gmail.com
website | www.sanjivprakashan.com

o O THNERIENA

o 7w :3 360.00

® TSR HIINT :
|Sta WehIYT (D.T.P. Department), ST

® Ush
YSATel U, SR

& sk sk kosk

< THIER H A I R o ToTu X Here v fRen e ¥ | feRt of Syfe o ar S wR steren faRdt
oft 7 o gl <k fAw 1 & 71 70 IR email = 7o ST G s HeRd §—

email : sanjeevprakashanjaipur@gmail.com
T R forHmT Hste wehTe

SR RIS T AT ST FEhT0 TR S5 &1 Foh |
< T IR | W TRt 3fe o uih aen 59 99 et fRet o sfa o fore oreren, g, TR
e sk ot it H R T € )

% Tefi woRR ok foamal s =fen & S ||
Gl

(e
(e

i
E‘




(iii)

fasa-—g=it

=fte AT Teh qReA—HTT-1

. U=

. SUHT & FEER 1 fagr

. SdIeT d&AT iTd

. qof gfqeayt =i feafd § o w1 fagr
. SIS o

At 27y T uReE—orT-2

. 9=

. T ™ & iR

. T AR USFR & f7eio

. TR Fe1e Te Ao

. el erdeeen ; gy Tl

g4

1-20

21-73

74-118

119-155

156-190

191-203

204-248

249-277

278-304

305-340

341-368



SIS HET 12 1

Soo UMW G0ar, 2024
EONI)

(ECONOMICS)
9T : 3 "que 15 fae quiieh : 80

et o forq wmr= fdor
. TRieet GEAYgH ST WYA-U W AHF SAfaraa: o |
[T w7 stfar ¥ |
Wwwwﬁﬁwgﬁmﬂﬁﬁ
T ool § erafies @os ¥, =9 @t %ww*&naﬁ
T 1 IR o § g 99 1 hHiE STy
%ﬁ%ﬂjﬁ%ﬁaaﬁ Wﬁ%@rwﬁz&mﬁvﬁﬁmwgﬁmﬁw%wﬁ
|
7. W AR 16 ¥ 22 H oTafiw fashew ¥ | fFel ww famen &1 g1 wifeQl
WUe-31 (SECTION-A)

O\U‘ILWN—\

1. Sgfaehedl U9 : [15x1=15]

Multhle Choice Questions : . . . )

() T TR 3 T O UE SIS S § A0Y S A3 Y& % o §— [1]
(37) ®= (@) feepret (@) ten fmyg () 9. BEan

(i) = ° 9 vt @y a— (1]
(a)ﬁﬁaﬁq@ (=) AT H (W) TR 7 gfg () gfteml =t ot

(iii) ‘fiord S o1 Sfean’ i <o el 37 [1]
(31) 1947 %a) 1952 (") 1935 (T) 1969

(iv) = o 9 gpfea gz 32— [1]
(31) m, 3 m (&) m, () m, () m, 3R m,

(v) S o= T 6 gT s [1]

(81) MPS = AS/AY %a) MPS = AC/AY (¥) MPS =S/Y (%) MPS = C/Y
(vi) RIS R T IERX

[1]
(1) ST T (a)ﬂeﬁmw (F) Ja (3) gmfa

(vii) HESIeR &% 3 STehHl o fafTent & wwafed 3— [1]
(1) T Wit () WW (|) Yot wifear (%) g ==

(viii) feer fafrma <z yomedt # fafraa <z frufer 83— [1]
(87) TFR (a1) dF (®) g T (3) o =

(ix) =Afte STefemed o1 Ty e— [1]
(1) g feta & (9) TSR 9
(9) 997 FiAd "X 9 (]) aEgatt =t wHa o

(x) € qeA A aen Tl e— (1]
(1) T TR Y () ITUET HH H
(9) seare foraan fom ot () fad g o

(xi) Toremfaar st segeit ot w9 *t @ g e— [1]
(31)6—0 (Me,=1 (F) e, <1 (R e, >1

(xii) T ok W fem B T T R 3— [1]
(1) a% I HAq (1) 31 g3l hi HIAd
(7) 39 Eafc el (%) SUHTHT st &

(xiii) RITET o5F THERT el W e— (1]
(31) T AN Tk (9) irea feer o ok
() Fe1 feer orTa =56 (%) T IiEd o a5k

(xiv) 3 T T sTeushrel iied o gt 3— [1]

(31) =@ (&) Aferepam (W) smftwfya () 3 9edt
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(Xv) %] % ISR G T°1 HH o TR 1 TOFHS T— [1]
(3N FoEufa  (I) FA AT (W) sitwa "wif (%) sirea arma
2. e Tt &t gfd it [7x1=7]
Fill in the blanks :
(i) ears e § afg @ % fau S o fRe S R, S e ZEmHEAE (1]
(i) =TSt Sl S0 WX, FHE B I TR W A I B R [1]
(i) S T I R AR A Y AR BR L, AT T o el =Tl 2 1[1]
(iv) %ﬁm%gmwﬁ%ﬁ%w , AT H eieireeeeneens mﬁ@ﬁ%ﬂfﬁﬁ%w
V) ﬁm%mﬁm Wmﬁwﬁmwﬁaﬁ?%ﬁwﬁwa&rﬁaﬁﬁé%w
| [1]
(vi) STNTH QT SN S SIS ST BT TH B oo HEA B | [1]
(vii) afE fergit shiHa o2 SR qfd oo AT | 1fereh ©, O SU hHd WA H o,
. FEA 2 | [1]
3. YA Hk T (Very Short Answer) : [10x1=10]
() T 3Tt giT SifS| [1]
Gi) Troct frre a9 foran s $7 [1]
(iii) STe =TT T 1 TreRY TRay faxiia a9 % foTT g 872 [1]
(iv) Geret yrafier =Ter st 7o SIS, AfS Tehel TSRS =TT 2,000 RS %. o fraet =t
<Ifae 400 U . T [1]
(v) st e fosa w87 [1]
(vi) =S < fadaen fond ohed €2 [1]
(vii) SETEET § o SATaE 72 [1]
(viii) Tafe= feranfaferar forg W e st €, =8 s ot enifeder Taweroor = =4 ferfam
) [1]
(ix) o~ T T IAH 9] hel (& g2 (1]
(x) R % gt ok o 7 Faier aol o A fafey ) [1]
Lus-d (SECTION-B)
FTEISR'I?FIE 91 (Short Answer Questions) :
fomstertor & WHW@WEW 2]
Explain the positive impacts of demonetisation.
5. Q™ UIfeE i A=Al i SO hiToid | 2]
Explain the assumption of Ceteris paribus.
6. 7o % <1 ol @ ST | 2]
Mention two reasons for 1nventory investment.
7. =g fqem=a ot s 100 %, ® @ fld ok S it 2]

10.

11.

12.

If Nishant’s savmgs is Rs. 100 then find the output multiplier.

. STIEIA W A § SRR i | [2]

Difference between Devaluation and Revaluation.

. AfE 9 1 ST 190 Tafeem Sfer qen =R Fger-50 faferam =fer ® o fafa =t om

Edisied (2]
If India’s imports are 190 million dollars and trade balance is —150 million dollar’s
then calculate the exports.

STefeAeEe Y IS AT hd HEETT fAfE | [2]
Write any two central problems of economy.

fiTfteet o fohdt et §7 a0l IR WAL | 2]
What is Giffen goods? Explain with examples.

T g3t ohl TR ey | 2]

Define substitute goods.
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13.

14.

15.

T % gfgam wfawe i THsmET | 2]
Explain the increasing Returns to scale.

Treran frwifa g 1 e wifsg) 2]
Explain price floor.

wH % o STeny fag 9 ST o e © 2 2]

What do you understand by the break even point?
@ueg-H" (SECTION-C)

<d IS W9 (Long Answer Questions) :

16.

17.

18.

WA AT § AT F TGl TATE Rl FHIAET | [3]
Explain the circular flow of income in a simple Economy.

ALAT/OR
HoRel BE] SIS VAT i T fafy w1 wmsmsy |
Explain the income method of calculating Gross Domestic Product.
TRHR oS & Tk hi W oH3T 991 1 Y TS/ FIiqd) ol Goes | [2+1=3]
Draw a diagram of the components of the government budget and explain non tax
revenue.

Agar/OR
wU A FHerd G o H T 9rel giedd w1 3@t i gerdar 9 THesy |

Explain the effect of a reduction in taxes on the income with the help of diagram.

=1 Il ® o1 e qen HH ST SR UM SR | [3]
Calculate total product and marginal product in the following table.

a9 F IR 3Ted Searg HHA e

Labour Total Product Average Product Marginal Product

1 — 12 —

2 — 14 —_

3 — 15 _

4 — 16 —

5 — 15 _

6 — 14 —

HIAT/OR
fE Tk wH B Pt Feer AT 10 7. 7 @ fe wron § or aftad! anrd qen sfida feer e
ShT UM SHITIT |

If total fixed cost of a firm is 10 Rs. Calculate total variable cost and average fixed
cost in the following table.

fta (gemrea) el AT el afiEdt AT sitga feer @

Outputs Total Cost Total Varibale Cost Average Fix Cost
(units) TC TVC AFC

0 10 — —

1 20 — —

2 32 — —

3 42 — —

4 50 — —

5 55 — —

6 57 — —
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19.

ERIEKES]
5 73 Hfq TS TSR HIHd T TF BH ki YU 50 I T | ST9R HiHd IgehL 10 TI BT St
¥ 1 o7 wH I wuifa 200 T B B | YR w w0 e | [3]

A firm earns a revenue of Rs. 50 when the market price of a good is Rs. 5. The
market price increases to Rs. 10 and the firm now earns a revenue of Rs. 200. Calculate
the price elasticity of supply.

AYAT/OR
fr1 aroft 1 39 o g ot wima Sre 3 e

Calculate the price elasticity of supply using following table.

U9 =t FHd P o= TS A Q

Price of Pen Quantity sold

A A A A=

Old Price P, = 10 Old Quantity Q, = 100
TS HHa T2 T

New Price P, = 15 New Quantity Q, = 150

|ug-T (SECTION-D)

fe~eTaTes 999 (Essay Type Questions) :

20.

21.

22.

ST % AT BT FU IS | [4]
Describe the functions of the money.

ALAT/OR
=1 = = wifse- [242=4]
(i) R W STTU

(i) SenfeR dRetar ST
Explain the following—
(i) Cash Reserve Ratio
(i1) Statutory Liquidity Ratio
YT AP T H IREdT F RO 9 e H BN ot ufeds i tnfes s were |
R | [2+2=4]
Explain with the help of a diagram the change in budget set due to changes in
consumer’s income.

ALAT/OR
SEgsT i wiEdl H qierT % wRU 9w U2 H I A ufikedd i 3@ies S weEd 9

RREUERY [2+2=4]
Explain with the help of a diagram the change in budget set due to changes in price
of goods.

A feer oTa =k w1 o &t REa 9 e S| [2+2=4]
Explain the average fixed cost curve with the help of diagram.

ALAT/OR
SIS = T ok o1 o <l 8Tl 9 =ren hifg | [242=4]

Explain the short run marginal cost curve with the help of diagram.
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FAT AT Tl ¥

TS 1 Fcdeh G et 7 foRdt avg a1 Te S SR w ¢ | TR oft stefeyeren |
T R W STavaekdletl adl 3% N foRT U Ieured & o9 gEaan i =nfse | afs foret
%G A Yol Ht YA /T A o H wH T A gEdt asgetl o Yanstl % Scared % ferg swEm
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fopanstl o dEneEl w1 HE I WEA R TSl ©, T HRU =@ I G S el 2
e H WHE s d FEeEry T TR E—

(1) fort =gstl o1 Soureq foren ST &R fReAt AT 72

(2) 31 S&ge 1 IcUEA FY FW 27

(3) 31 axgell w1 3careA fRas foaw fwan sma?

IUTTS FAIEAl R ol A ufded | SA garen o fafie w9 A faftam v @ ek
SHY wft dorrfaa aegetl qen Senstl & fafu= fagol = faman <1 wepar ® 1 SUoTey wEAl
I AET T IUCTS WETTR T o G Scafed i ST Foh At aut aegeT q9n dael & we
Huifad T % g o TR T ITUGT WHEA W FEd ¢ 99 T8 A ok
SCIEA HHTEAT HEd § | Joieh STefoaaee] @i 3794 Ui SUeisd 3eh TueHet o 9 fodt wh o
I T TS T

arfelen fhaTRaTUl ST SRS —sTeoroe St STHRYT FHES *1 9 Tl o e
e T HeRal 3—

(1) HFHd deAEg ATHTAT—FSIFHd ASHEG TdTTEd F ST THR STl
H T GRS SR Fenstl T Seure, fafte qun sy @ Twig g gewergut ot feey
Skl
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(2) IR ArdHTAT—F= I AISHEG sTdeeee & fauid areR steferasen #§ wt enfiew
ferameremal o1 faufo sToiR i feafaal & STHER i | SToR steferereen # SeareH, faftwa qun
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(1) HRRTHSE ek AU ehricHe e Tageivor o o1=iiid 9 9% &79" &id
for faf=r fopenfafemi fore wor & et © |
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U SUEN W STIAT S hid R g Y STefeqew Sl THeH Sl FAE L ¥ | gafie stedvme
T g0 AL & HE ST Rl THY AL THSTT SURN o HF8R AT FH hl FAH
Gaskd

(areeraEe % ue )

U9 1. NAHALT hi h-5d UL hi
[EEREUETIE LY

I — AT T FHT THEAL—TAF
TS H axgsi ud Senett o 3cared, fafta den
SYNNT % SR ST Sl SEIEE! R T A
T TS ¢ T RO SR IS =9 i g
T SeTE B St © | i e @ farree
qen sifan sgeT wd Qanet 1 faaer € fret ot
Frefegaedr H HEE GHEM § | WHREG: T
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STEvIFRAle H gfd 8w |

(2) 3 I3l T AT Y HId &7
T STEE] W GOl FEqUl hd W 98
 for fafim aggetl it Yenetl @ Scure & o
fro-fra awg = Qa1 o fwa-fea e =t
fopamt /0 B ST e STU? sEeh ST=TId TE
frofa foen st & foF ScureA & wma 99w
fereRh STANT AT T STere WA BT SATHR ST
HTA T AT SAEH B TG TR TRt BT T
foren sma?
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(3) 37 g3l o1 3T fohdeh forw femarm
M2~ STefearaee i 98 Hewqul wae ¢ fF
STeferaedn H Ieqifen sqstl ot fohat A fwa
I BT STl STefeaeRdn % ITURH Rl AH
fovr & = fore war fawfsa foran smom? so
s1=riia Ig ot feran wmar ® o sourem A fafy=
feal § 59 yR fawfsa feer so arfes ot
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e €t =g Tota fohen smar @ o =0 foren, wmess
St gl SeTd stdoreren % wlt sftwal h
T es ST HEE WT?

Y9 2. TN hi IATGT HHTISTS |
YT FT AT §?

ST—ToRe sTeiorereen | SucTsy TATeHl i
TET TAT ST WIETehtd 99 o 50 ScaTad i
S gEA Al |t aeqgetl qen Wersti koA
Hfod SAT % YT kI STLfew i Ieued
HHEATY, FEd ¥ |

9 3. HHId IATET HHIST 1 87

ST—ASTTE H UGS TG BT A
T ISy WrENfTeha 9 o GRI Scafed i S
TR el et eqetl qun gened & |t weifaa
HANT o T I STIATTAT T ITGA HHIS W
HEA T | 3T ICURT GHE TSI ST R
SR T AT 7T 5k ohl AT STIIGA |HTa T
FEd

ST 4. FFIT i faoa-arg st faa=mr
HIfT

ST —sTfaEdn &t fawg-axg &1 e
= < =aer smEnsT W STl feRen T weRa
I—

(1) =afe rddvmE—=fe stdvmes § fafa=
T sifyeraisT o SRR 1 STEaaT R TSR
H aegell wd Sensit i wEneTl we wimdl o
frerfeor fepan sman %

(2) Tufte AAIMEH—TAle Ad9ms &
ST BH el T, ASAIR q&A1 T ShiAd TS
Y IR W ST B hfsd I Y T
sreferreee W GHSH Wl WAE H T |

Y9 5. chsiichd Al Toeg AT a4r
SIS ALHEAT o S hl T HITT

W_
hsthd AR 3refearareen
referazen
1. 390 TefeaeTar | 1. THH SAfHTw F
TN Ot TorarRed| o e e
TRHR 3T F1 T|  Hemd SR R
g feifa g 2 fasifa g T

2.390 HAd  THR|2. TEH HIAd SR

s/ faifed &t €1 | s = qen gfd
= ufed gr
fruifa et €1
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IW—TFRHF ATfdF faverwor 3 1faum
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Jafaqer onfdew| U w WU F ®W
THEEA o ATEEE| W SegET Bl B
fopen < 1
2. SIS Y T VIRGT | 2. STV i 59 9T
¥ Jafgaes sud,| o Tegel steforeren
IJafeqs ®I9dt,| & 9EE T, A
gegell WE  Wensdi|  IUHN, F e
¥ SARA omfg 1| SR o efe
AT fopen S © 1| o1 STeme fepen ST
k-
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3. JAfte srdymen o | 3. gufe sideeran /| |7. 59 fovemw o1 g | 7. 39 v o ge
fafy= somd w1 GEm etefeaE & JUFLO HIO GUMCH | SYHLOT T 3T
T fohen ST B 1| evemE fohan e 2 7 fagetwor 71

4. I S TSNS | 4. 9% T A1 FEgut 8. o =fte rdvmer| 8. ofd: gHfte ALvmen
o e TS Afa|  eTdemeEn S guen % oG ¥ 9WR|  H W po fAa,
TG T T & G W Sfua B Ivcrey fafw=r| ISR qon wHw

Hifa STeTey I oegstl SR Qaredi | hiHd W ik wHy
7 qfigen ® fafy=| <y W ema sam

5. =fte stefcqaen ohi| 5. THfte fderere & sifdieh eifyrehdiell % | A= A I

T ER TS| s HrE S FITR H AT | ST Bl I
3 T Fg WA HI| W WA A T
6. AN FdWTE  HI| 6. GAfE d9ME HI %ﬁ%ﬁﬁrg
# ® # ® qe HeeAl ki "ET
IR HId o whR
fauffa st €
( £ N
kmwmj
TS TyA— (@) wifser fowerm
1. iohd drererg steferereen # wewge fofg (7) efiferen fawersmn
FH o §7  (wem. forem aE, 2023) 5. 9% fawerwwr fwe o<EG g9 W 9@ @
(|) ¥F (%) SusreR AFS T SR HHA-dl wiawe €, wHewr

TF g I AfYF AE I wA F fou
THl O] 1 FE WA Sre uEdt ¢
FEd T—

(31) wmfSeR @ (F) ST @nTd
(W) o= @ (%) HAifsw A
foret U g W o Al seEdl @
T S TG SE g ol TS A Sret
Tedt ¥, SH gl Sl T—

(31) Hifsew @ (F) FA @
(9) SR ard () HHISe ar
o5 faveivor feme et=mia g9 2% efeem
T 2 Top fafsm= fepanfafie fore wonr e
FT §, e —

(1) oTeRieR foweror

(&) FhrreHes amfefe fagersor

I—

(31) eTeEe foaersmn

(&) = fagewo

(9) FhrrcHs faveror

(3) arafas fageryo

TS i = W oo et sl
w1 fageroor fman s ¥, weemd §—
(21) wfe stdwre

(&) =Afe srdome

(®) Tifsw steferereen

(3) fowma =1 srdfomen

ALY Ft 5 @ Torod Ty sTLfegawe
1 I fohal ST ¥, g 3—
(21) =afe stdome (@) Hifse stefeme
(&) THfe s1efems (7)) o o stdeme



